1. A% A={7, 3, 5}, B=1{3, 5, a+2}°l thsto]
A=BI W, a9 e Fslelat. [ 2, 55 )
> E.
D> H"els

A= Bold F AF| LE Aa7} Zolof gt
W& BN a+2=70H2 =50},

@ 189 v Hst

@ 24°] v Ak

69] Hi4-9] HetS davtdyio= Uetlid {6,
12, 18, 24, 36, - -- } o]t}

12 9] vi4=2] g, 18 9] ulj4=2] 3k, 24 9] Hj5=9]
A3, 36 9] wi4=9] 2 B 69 vi4=2] HEo

BB ol

FHATA={1,36},B={zx—1, 2+4, 3}
isle] A =B 2 o, ¢ o] & F5todet

[HH4 3,

|0

o]

P

A=BOo|lBR2 gz —1=1,2+4=6

=2
Ha S A= {z|z=10 °l5te] =} o T2l
obd A7 (7 3, SHAF ]
O o @ {1, 3}
® {3, 7} @ {z|ze=99 =}

@1, s, 6}

A= {17 37 57 77 9} O]E-ﬁl—— {17 57 6} ¢ A




3
Nj |
i =g _
. { =0 ) w N
Po|eETh i
zm_v — ,_.uc__h_ o2 z_.a . )
Ll — =T wo|
N oo ) S o T ol - ol
or B ! . ™ Y = = Ho NS ]
o M AR N | X Tor o I o
i ™ o Mﬁ B or = >
. ma| 7 T wooR ) ) i
or ,_O._ X o =~ XA = ~ Ing aa) o
! w| T ﬂ _ﬁ/l E S ) \L.v/ ol
— ol N = ) . - =
= TR ql o = ~ - Q
T ENg o & X = . &+
%3 e = e £ | T
o | | 3 B Ra o T -~
ol | " wr ol Mo Tor or = e NI < ~ S
i N o M T nwoow N o S o -
o =B E o T i S| S =
oo do s G) S el o g Al
iy 4 CI _ o m. iy — o I e)
ﬂm @ O_O @ L_L N X o} QE ol 2 ,m_IL o 2
. N IS e N ~ " ~ 5 A
© Tor iy Q - g Ay
© % : = =g
> @ o < |0 . -
G) e W J 5 S
i _M a a1 a1 I S M\
1) - ~ -
— et % SR
x° A = g
(ils) -.(. D = \Am/ MA\
. { A 5 = n
M 3 1D| -y -— 2 -
o o0 et 3 o8
’ o = IS
U o = o o
o = 5 g o By
o p M o
oy BN o W =
~ K o X Ell 5
— g qm < M A N
Q (S~ KT W~
__OH | ~ ‘m [l N o
— X ~ 1__.._ 1D|
I o T s T )
-3 e To _m,o A u] i o
T M ﬂe K 1o o 1__m @
— [ =) o -
~ _01_ E_E _ _!n_ N e @
e B - oW M X
o ok HF bW o B wqm
& o o oo © B S
=105 o r o fo)
© @ un ul ul ol o OF i
> _Ao ._.Auo ‘OI * ,vIAH
ANAN @ @ T
O 0
O_D ,WI




8.

10 oJste] 3 9] Hjo] Hghe 5 @t & o, v F
Hl2 7] Tk A Foleh,

12& AEs9 3& Aghse

Bk A7} A3,

e A i ~ ) s

72 39S
Hof, B

won I B ves

(Bl 3, 3}
=

>
(S =

=

P
I

10 ©Jste] 3 9] Hj4= 3, 6, 9 °]T.
. 8=1{3,6, 9}

AxF 122 A S o Yash okt
g 3. WG § o aolek,

23
%

2499] 7 WG § o A4} ohek,
B4 0k FF 5 o Azolet,

10 o]5}2] 29] v} off w5k

)
—
n(X):4?_XH]§:}A9/]$——ErZH]ﬁ‘:}X9;|7H£’\__§_ 6]'

ofzt. [ 3, Fst]

A=1{2, 4, 6, 8, 10} 9] FEHZ Fol|4] LA
N7t a7 REAY X =

{2, 4, 6, 8}, {2, 4, 6, 10}, {2, 4, 8, 10},
{2, 6, 8, 10}, {4, 6, 8, 10} 2] 5 7} o]},

AT A=1{1,2,3} & o, Y& 1
o] HEHFe] /g ot et

{1}, {1,2}, {1,3}, {1,2,3}




) {1,2,8}
) {3,4,8}
) {3,5,8}
) {1,4,6,7}
) {4,5,6,8}
) {2,3,4,8}
) {2,4,7,8}
) {1,2,3,6,8}

SR 2 < A ) 1

(
(
(
(
(
(
(
(

[ 3, Fot ]

o

>
>3

o
I
Mo
™
@

G o A AT Aa JDPoR 42

ER® ¢ = {4,8},4 = {1,2,3,4,5,6,7,8

}el

Th. C c X c AS TSol= A X = 4%
A9 BREJ F YA 4, 82 FIEA] Zitsh=
A o]L

T AR

—
ol WS 4 9l Wolk REF olnt,

12. 045 35 &

13.

VAl

o
Ae B IE ZAL27

rlo
filo

Q (A=A, Hepr], ohE, A, ol&) =

{z | z= AAAF}

@ {1’ 2’ 37 4} = {ZL' | T= X}?ﬂ—’?—% 4= 1/1'
919 ), vjojx])
© {mWa}, Gz, F3}, R} = {z |z &

AREAte] o5}
@ {0} 1 Afo]o] B4 — {%’ é}
@ {1,3,17,51 } = {z | 2= 51 9] &5}
e {3, 4 & R} = {z| 2= ==

olo] o]k o7}

(Ml 3, S5t ]

ONENE) ©®@ 06,668 06000

@606 6o e

© {z | 2= AQAFE 42 HFUE ©f, YA}
= {0, 1, 2, 3} °]t}.
@ {0} 1 Ato] o] 24

P

} o]t}

A~ =

)

Wl =

_{1
LN I g 2,

9(1, 2, n& AL L&) Ae) _ gn-3 _ 15 = 94

n="7




14.10 Hot 241 20 Ho} 22 A Fofl A 4 of vij<=9]

—
Aes A= g o, o5 § &2 227

15. o= & &4 &2 A< 25 1=21? (9 370)

[HH 4, 5% ]

@ A=geo|¥d n(A) =00|c}.

@ B c A°|H n(B) <n(A)

@ A= EH A = {0}, B = {1}°]9¥ n(4) =
n(B) =1°1AT A+# B

® A={0}°]H n(4) =1




